gonal cross lines on the remaining blank pages.

Important Note : 1. On completing your answers, compulsorily draw dia

=50, will be treated as malpract

nd /or equations written eg, 42+8
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Transmission & Dlsfrrbutlon
Max. Marks: 100

"‘%w L

Mod*iile— 5 3

2 s, distribut
ith a neat diagram, explain feedcﬁsu,wdlstrlbutor and service main of a distribution system.

,,,,,, - (04 Marks)
Explain the advantages of hzgh,;gblt_@ge transmlssmn with su ﬁﬁfé expressions. (08 Marks)

5%‘ Y

50 and 80 meters above® Waﬁer level The horizontal dlstance between the towers is
300 meters. If the tension-in  the conductor is 2000 kg. Find the clearance between the

conductor and water ata mt midway between the towers.
Weight of conductor ﬁer meter = 0.844 kg. Ass‘&me that the conductor take the shape of

parabolic curve

different’ tevels (10 Marks)
Each hne of a 3-phase system is Wnded by a string Ovﬁé similar insulators. If the voltage
'tral voltage. Assume that the shunt

! (10 Marks)

& Modhi le2 ‘oM
Derive an expre@slgg for the inductance ofa smgle phase t\% w1re lme (08 Marks)
Explain the concept of self GMD and tautual GMD. (04 Marks)

A3 phase 50”"Hi’ 132 kV overhea?“ﬁ‘xme has conductor p’laced in a horizontal plane 4 meter

two lOWSF”COHdUCtOl’S are conn@gted in parallel. Determme the 1nductance per km of the
resulting double circuit line. P (10 Marks)

Derive an expression f’éwsendlng end voltage and current for long transmission line using
rigorous method & (10 Marks)

D, are connecteci in series. Develop expression for the overall constants ABCD of the
combmatlonm}n terms of Ay, By, C1, D; and A,, B,, Co, D (10 Marks)

1 of2
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OR

Explain with vector diagram the nominal m method for obtaining the performance of

medium transmission lines. (10 Marks)
An overhead 3-phase transmission line deliver SOO&L kW at 22 KV at 0.8 p.f. lagging. The
resistance and reactance of each conductor is 4 Q and 6 Q respectively. Determine sending

end voltage and transmission efficiency. s W (10 Marks)

Module-4 _
Discuss different factors affecting corona ‘and corona loss. - (08 Marks)
A single core lead sheathed cable has a conductor diameter of 3 cm. The diameter of the
cable being 9 cm. The cable is graded by using two dielectric of relative permittivity
5 and 4 respectively with correspondmg safe working stress-of 30 kV/cm and 20 kV/cm.

Calculate the radial thickness. of each insulation and the safe working voltage of the cable.
(08 Marks)

A single core cable has.a conductor diameter of 1 ¢m and insulation thickness of 0.4 cm. If
the specific resistanceof insulation is 5x 10" Qcm ‘Calculate the insulation resistance for
2 km length of the cable. (04 Marks)

OR =
Derive the expressmn for the capacitance of a single core cable. (06 Marks)
A 33 KV;50 Hz, 3-ph underground cable 4 km long uses three single core cables. Each of
the conductor has a diameter of 2:5 cm and the radial thickness of insulation is 0.5 cm.
Determme (i) Capacitance of the' ‘eable / phase (i) Chargmg current / phase

(1i1)) Total chargmg KVAR. The relatlve_perrmttlvrty of msulatlon g,
: e} (06 Marks)

Explain the following terms wrth reference to corona: P
(1)  Critical dlsruptrve voltage. (i) Critical visual disruptive voltage.

(i) Power loss - i (08 Marks)
& odule-5

Explain radlal feeders for AC dlstrrbl__,;tlon system. Ment1on the characteristics of radial

feeders. (06 Marks)

A 3 phase 4 wire system supplles power at 400 V and lighting at 230 V. If the lamps in use
require 70, 84 and 33 Ampere in each of the three lines. What should be the current in the
neutral wire‘? If a 3 phase-motor is now taking 200 A from the lines at a p.f. of 0.2 lagging.
What should be the total.cusrent in each line: and the neutral wire? Find also the total power

~supplied to the lamps and the motor. ~ ~ (10 Marks)

- Tuist the hmltatrons of drstnbutron systems _Explain any two in brief. (04 Marks)
Explain 3-phase 4 wire star connected unbalanced loads for AC distribution system.

""""""""" (06 Marks)

Deﬁne power quah’ty List the quality problems. (04 Marks)

under,
(1) 100 A at 0.707 p.f. lagging 200 m from point A.
(i1) 200 A.at 0.8 p.f. lagging 300 m from point A.
The total resistancé and reactance of the distributor is 0.2 Q and 0.1 Q per killometer.

Calculate the total voltage drop in the distributor. Ttemijgﬁﬁrmthe voltage at
the far end. BANGALORE - 560 037 (10 Marks)
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